Long Journeys on Horseback
Rhys Goldstein, November 2011

In the middlegame, we tend to look for key squares that can be occupied in one or two moves.  Sliding a rook to the bottom of an open file is an obvious example.  Rarely do we consider moving a piece 4 or 5 times to get to a more distant square.  Long journeys like this are risky, because they give our opponents time to act against us.  But when they are successful, it is surprising what an unlikely journey can accomplish.

Game #1
White: Wilhelm Steinitz
Black: Alexander G. Sellman
Baltimore, 1885 
1. e4 		e6 
2. d4 		d5 
3. Nc3 		Nf6 
4. e5 		Nfd7 
5. f4 		c5 
6. dxc5 	Bxc5
7. Nf3 		a6 
8. Bd3 		Nc6 
9. Qe2 		Nb4 
10. Bd2 	b5 
11. Nd1 	Nxd3+
12. cxd3 	Qb6 
13. b4!		Be7 

If instead 13…Bd4, then 14.Rb1 wins a piece.  There is no defense to the threat of 15.Nxd4, as recapturing with the queen allows her to be trapped by 16.Be3. 

14. a3 		f5 
15. Rc1 	Bb7 
16. Be3 	Qd8
17. Nd4 	Nf8 
18. O-O 	h5 
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It’s White’s move, and the most obvious plan is to try to double rooks on the c-file after say 19.Nf2.  But Steinitz, the first official world champion and the so-called “father of positional chess”, sees that almost all of Black’s pawns are on light squares.  With his pawns on light squares, Black relies on his e7 bishop to guard the dark squares.  White would like to get rid of this bishop, and the ideal piece to exchange it with is the harmless-looking knight on d1.  So the knight sets forth on a long journey to a5, where it will be in striking distance of Black’s all-important dark-squared bishop.

19. Nc3! 	Kf7 
20. Nb1! 	g6 
21. Nd2 	Nd7
22. N2b3 	Rc8 
23. Na5 

The journey is complete!  Note that the closed position combined with Black’s passive play allowed White to make 5 consecutive moves with the same piece.  White now plays for control of the c-file before striking at the dark-squared bishop.

23. … 		Ba8 
24. Rxc8 	Qxc8 
25. Rc1 	Qb8 
26. Qc2 	Bd8

With this move Black prevents the White queen from reaching c7, but only temporarily.

27. Nac6! 

Black’s dark-squared bishop cannot be saved.  If 27…Bxc6, then of course 28.Nxc6 followed by 29.Nxd8.  [Oops…better is 28.Qxc6! Nf8 29.Qxa6 threatening Rc8 - RG]
27. …		Qb7 
28. Nxd8+ 	Rxd8 
29. Qc7! 	Qb8 

As bad as it is for Black having the White queen on c7, a rook on the seventh rank is generally even more powerful.  So Black tries to avoid the exchange of queens 

30. Bf2 	Qb6 
31. Nf3 	Qxc7 

Otherwise 32.Ng5+ wins the e6 pawn. 

32. Rxc7 	Ke8 
33. Ng5 	Nf8 
34. Bc5 	

All of White’s pieces invade on dark squares.  Note that the long knight maneuver, which began on move 19, made this invasion possible by eliminating the key defender of dark squares.  With the threat of 25.Re7#, Black must give up the e6 pawn.

34. …		Nd7 

If instead 34…Rd7, then 35.Rc8+ Rd8 36.Rxd8+ Kxd8 37.Bxf8 winning the knight.

35. Bd6 

Material is even, but not for long.  If Black moves the knight on d7, 36.Re7+ is crushing.  If 35…Rb8, then 36.Rxd7 discovers an attack on the rook and wins a piece.  Finally, if 35…d4, then 36.Nxe6 wins the exchange since 36…Rb8 allows 37.Ng7+ Kf7 38.Rxd7+ Kg8 39.Bxb8.  

1-0

The Nd1-c3-b1-d2-b3-a5 maneuver attained an overwhelming positional advantage and arguably led to the win.  But would such a long journey be effective on a more open board against a more modern style of play?  The next game features a very different type of position, but it is also won after a knight travels an unlikely path and makes a huge impact.
Game #2
White: Svetozar Gligoric
Black: Nigel Short
London, 1980 
1. d4 		Nf6 
2. c4 		e6 
3. Nc3 		Bb4 
4. e3 		c5 
5. Nge2 	cxd4 
6. exd4 	0–0 
7. a3 		Be7 
8. d5 		exd5 
9. cxd5 	Bc5
10. Nd4 	d6 
11. Be2 	a6 
12. 0–0 	Nbd7 
13. Bg5 	h6
14. Bh4 	Re8 
15. Rc1 
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Playing Black, the 15-year-old Nigel Short has to worry about an underdeveloped queenside, a space disadvantage, and the pin on his f6 knight.  Breaking the pin with g5 would weaken Black’s kingside.  But Short sees that White’s dark-squared bishop can be driven away by his d7 knight.

15. … 		Nf8! 
16. b4 		Ba7 
17. Nb3	Ng6 
18. Bg3 	Ne7!

A surprise for White.  The knight had already moved twice to get from d7 to g6 where it drove the bishop from the h4-d8 diagonal.  Now the knight moves two more times to get from g6 to f5.

19. h3 		Nf5 

Like 23.Na5 in Game #1, 19…Nf5 marks the end of a long journey with the Knight.  In this game, Black was able to dedicate 4 moves to a single knight because the knight made threats along the way.  White was compelled to spend 3 moves preserving his bishop: 18.Bg3, 19.h3, and the next move.

20. Bh2 	

In Game #1, the point of the knight’s journey was to remove the opponent’s better bishop.  Here the plan is a little more subtle.  Black’s knight on f5 will provoke weaknesses around White’s king.  In fact, it already has provoked a weakness by chasing the bishop away from the defense of f2.  Were White to evict the knight with g4, his kingside would be further weakened.

20 …		Bd7 
21. Na5 	Rc8! 

Another surprise.  White expected 21…Rb8 to defend b7.

22. Kh1?	

22.Nxb7 seemed risky due to Qb6 23.Na5 Ne3! 24.fxe3 Qxe3+ 25.Kh1 Rxc3.  But although White’s immediate Kh1 prevents Nf5-e3, it leaves f2 even more vulnerable.

22. …		Bd4!

Black wants to attack f2 with Ne4.  This bishop move attacks the only piece that guards the e4 square.

23. Na2

The White queen cannot defend the knight since she is tied down to the defense of the bishop on e2.  So the knight retreats.

23. …		Rxc1 
24. Nxc1 	Ne4!

Like 27.Nac6 in Game #1, a knight moves in and creates a decisive positional advantage.

25. g4 

25 Nd3 would have lost to 25…Nc3, attacking the queen and winning the bishop on e2.  Other attempts to defend f2 would have allowed 25…Qh4 with an overwhelming attack.

25. …		Nxf2+ 
26. Rxf2	Bxf2 
27. gxf5 	Bxf5 

Black has a small material advantage: a rook and two pawns for a knight and a bishop.  But the positional advantage is tremendous.  With a shattered kingside, White forgoes the b7 pawn and attempts to consolidate. 

28. Nd3 	Qh4! 

Like 29.Qc7 in Game #1, the queen moves in at last.  The first threat is 19…Rxe2, after which 20…Be4+ or 20…Qe4+ mates.

29. Bf3 	Bxd3 
30. Qxd3 	Qxh3 

Here Black misses 30…Re1+ 31.Kg2 Rg1+! 32.Bxg1 Qg3+ 33. Kf1 Qxg1+ 34.Ke2 Qe1#.  But 30…Qxh3 keeps the initiative.  White must prevent 31.Re1+, now a simple mate.

31. Be4  	Qg4 
32. Bg2 	Re1+ 
33. Bf1 	Rd1 

The White queen is hit, but moving her to safety allows either Rxf1+ or Qf3#.  [Carlos’s suggestion of 33…Be3! also wins - RG]
0–1

On move 15, few players would have thought of Nd7-f8-g6-e7-f5.  But with threats on g3 and e3, this knight induced the weaknesses in White’s kingside that ultimately decided the game.
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